QUESTION BANK
SOCIOLOGY

UNIT-II

The Demographic Structure of the Indian Society

H7—HIvT (Assertion-Reason) (01 Mark)

Answer Options (3WX fa&e9( (for all questions)

(A) Both A and R are true, and R is the correct explanation of A.
AR RS TEr g, 3R, A HT Gy AT £ |

(B) Both A and R are true, but R is not the correct explanation of A.
A 3R R ST TEY €, AfeheT R, A T TEY AT G B

(C) A s true, but R is false.
AT 8, dlfhed R AT B |

(D) A is false, but R is true.
AT §, difoheT R TR & 1

QUESTIONS-

1.

DY (Assertion) (A): HRA H SHEEAT Jefdr H FAART el & T aRar g
hRIHA o] fohar ara|

Family planning program was implemented in India to control population growth.
BRUT (Reason) (R): STHHEAT J&f& ¥ HEEEA! T AT gad Il &

Population growth puts extreme pressure on resources.

Assertion (A): SATATRS CIfoTre ZIRT (Demographic Transition Theory) ST T&AT ac?{fﬁ'
& faffiest ool &I AT # @gF g gl

The Demographic Transition Theory helps in understanding the different phases of population
growth.

Reason (R): I¢ AT shael fahfad Sl $I @A J&ftr W oe] &Il &

This theory applies with the population growth of developed contries only.

Assertion (A): AR H ITHIUT-2EY Yard«l (Rural-Urban Migration) 3T HET DRUT
3 3raert Fr AT Bl
The main reason for Rural-Urban Migration in India is economic inequality.

Reason(R):%l%ﬂ'ﬂﬁﬁmﬁmﬁﬂﬁﬂﬁ@?ﬁﬁmw?ﬁﬁ?l?ff
HI 3R Tl el ad gl
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There are more possibilities of employment in urban areas which leads to the migration of
people from villages to cities.

Assertion (A): HRd PR T STTEEIT AT 2000 (Population Policy 2000) H YsTelel
Ty Hardt W Ay e fear s

Special focus has been given to reproductive health services in Population Policy 2000 of
Government of India.

Reason (R): AIfd T AT 3ecT Fdel oA &I I ol 2T|
The main objective of the policy was to increase the birth rate only.

Assertion (A): ITHIOT &= 7 SfideT TR & GUR & SIdo[g, s oler et & fav
QEYr &1 T 3R YT X @ &

Despite of improvement in living standard in rural areas many people migrating towards urban
areas for livelihood.

Reason (R): Ag0&0T ¥ JHI0T 37 H PR & 3798 ded 2l

Urbanization leads to increasing employement opportunities in rural areas.

Assertion (A): HRT &I STHEAT HAIfd 1976 H Tgell IR @] HT a5 AN
Population Policy of India was implemented for the first time in 1976.

Reason (R): I8 sAifd IRaR e 3R Saaear fSFur # Serar ¢ & v s« 15
TS AN

This policy has been made for encouraging family planning and population control.

Assertion (A): IRd H STHEIT Goicd H TR E‘I_?\:f%f g @I gl

The rate of population density in India is increasing continuously.

Reason (R): 3T SieH & 3R Siiaet gcamem & deft 5@ wae wRoT &
High birth rate and growth in life expectancy are the main causes of it.

Assertion (A): ITAIVT &7 H HY 9T FIRAT & HROT SRS T FHAET 3HTH
grar &l

Unemployment is the major issue in rural areas due to dependency on agriculture.

Reason (R): 8Rd Ifd (Green Revolution) sT ITHIT &3 H USWR & FaaT & Elc?.’\ﬁT
$r gl

Green Revolution has increased the employment opportunities in rural areas.

Assertion (A): g3 &1 & Sl @Y JiAAEr Flaensid w gara srerch gl
Increasing population in urban areas pressurizes on the basic facilities.

Reason (R): SgaX TArELT Aar3it 3R A& Fr 3Ucrsrdr & SROT oller el a1 &
SHAT JHG X gl
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The people prefer to settle in urban areas due to better health services and availability of
education.

10. Assertion (A): IR T FAGEAT AT & 8T Fad IRAR FAeT d AT &
The objective of Population Policy of India is limited to the family planning only.
Reason (R): Aifdd & #AIG va [ Fareey Qansit, Afgen Gerfdaeior 3R e @« o
et fear arr g

The focus on maternal and child healthcare services, women empowerment and education has
been also given in policy.

ggladbediT g9 (Multiple-choice Questions) (01 Mark)

1. STAHEAT WHAVT AT F IHTUR, HRT FdAT F Fa =wor & @2
According to the Demographic Transition Theory, which stage is India currently in?
A. 99H TIOT (First stage)

B. {ﬁ?ﬁﬂ' TIOT (Second stage)
C. el =0T (Third stage)
D. il?:l"ai' °IUT (Fourth stage)

2.0 FR& F gl Geul # @ed 3OF aRade T g7
Which factor has brought the most significant change in rural-urban linkages?

A. Tfﬁ' # HTW (Modernization of agriculture)
B. Ir#Ior-2rgdt 9arde (Rural-urban migration)

C. f3foee wifa (Digital revolution)

D. 9Tl IS YOTTell (Panchayati Raj system)

3. Fla-a1 Jewed ey "nflis FamEl & ave Seeear et W SRa ¥
Which population theory focuses on "population growth relative to economic resources"?

A. #euw &1 f@gyia (Malthusian Theory)

B. STAGEAT HHAIT ﬁ?{}lﬁ (Demographic Transition Theory)
C. ATFHAE STTHEaT ﬁ{iﬂ?l' (Marxist Population Theory)
D. 9eT¥cqrcel ﬁ?{filﬁ (Theory of Reproduction)
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4. farafaf@a & @ wla-ar oRa Fr STaEEar Afa 2000 F FET 35807 H anfArer aigh
&

Which of the following is NOT a key objective of India’s Population Policy 2000?
A. e Folelel T F FA (Reduction in Total Fertility Rate)

B. AT g fQW'QI #cg a¥ £ ) qa'ﬁ'l’ (Increase in Maternal & Infant Mortality Rate)
C. [Pl TareeT dansit &1 HUR (Improvement in Adolescent Health Services)
D. H‘%?—lTEHT #1 e 9T eI a?ﬁ?l' &{AT (Focus on Women’s Education)

5. AT F FROT AR & Fia-WH FAoF Ta@eT gad 30F 7 W 2

Which social issue is increasing the most in India due to urbanization?
A. IRIRF HﬂT &I &RUT (Erosion of traditional values)

B. @ 9q¥UT (Air pollution)
C. a??ﬁ gfeaar @ QE’@' (Increase in slum settlements)
D. ergdt Shaa $ir LIMEE] £ ) YR (Improvement in urban quality of life)

6. AR IOl fAererer 1 wIHE FROT FAT B2
What is the primary cause of the rural-urban divide in India?
A. VSR & FqEAT #H AT (Inequality in employment opportunities)
B. ¥ 4T rafas fr3ar (Overdependence on agriculture)
C. fraTr $r FFATTAT (Educational disparity)
D. 3T Hsft (All of the above)

7. farfaf@a & ¥ Fi9-91 ya@T & AT ‘4FFT FREF’ (Push Factor) 7TET &2
Which of the following is NOT a push factor for migration?

A. qﬁﬁ? HTYEIT (Natural disasters)

B. SIS (Unemployment)

C. 9gaX Eaey gﬁﬁﬂ'ﬁ" (Better healthcare facilities)
D. Tstsifas ATEAIAT (Political instability)

8. AFfaf@a & & sla-ar sy FawEar AifT 1952 f Fdwar & 42
Which of the following was NOT a feature of India’s Population Policy 1952?
A. IRAR fAAS FRIFHA AT YT (Introduction of Family Planning Program)

B. A U9 a1l FERLT G €A1 e FI (Focus on Maternal and Child Health)
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C. 3faat FagEar Ag=or (Mandatory population control)
D. SETHEAT ARART ATAITT (Population Awareness Campaigns)

9. "STTHEAT FT gEfafier Feftr & (Decadal Growth Rate) & PRmae” siRa # e
qrEATaE ifa #1 germa g2

The "decline in India's decadal growth rate" is an impact of which social policy?
A. 99T TS FUR (Panchayati Raj Reforms)

B. fram #Aifd 2020 (Education Policy 2020)
C. steraear faa=or Aifd (Population Control Policy)
D. @Ieg F&T IHfAFAIA (Food Security Act)

10. 3R 7 ffaf@a # ¥ B SoaiflRad ddas # dmar fae 3m & &2
Which of the following demographic indicators in India is continuously declining?
A.SledA & (Birth Rate)

B. 9Tl & (Literacy Rate)
C. SfiasT gegmam (Life Expectancy)
D. A@{&IOT T (Urbanization Rate)

fAreaa ST o7 (One word/definite answer questions (01 Mark)

1.  Which theory in demography explains population growth in stages based on economic
development?

SAHET eI H FiT w1 Rguia wf¥s e & 3muR | ol F Faaear
JEfer Y FASI 7
2. Who is considered the father of modern demography?
ryfas Swifeahr F1 sas F4 A Srar 32
3. Which census year recorded the highest decadal population growth rate in India?
frw Searorer af F qRa T GUFAR FAWEAT I T Fw HfOF o
4. What term is used for the movement of people from rural to urban areas?
aiior § gt afE FH AN F UarEa F FT FET AT 82

5.  Which term describes the differences in facilities and opportunities between rural and urban
areas?

arior AR aedl At & e glaued 3 srEEt A AT B FAT FET AT 2
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6. Which government program aims at controlling population growth in India?
AT A Sawedr gefr # afa & & Qv Fla a1 wad FEiEa anp R
IAT B

7.  Which demographic indicator is used to measure the number of deaths per 1000 individuals per
year?
FIT W FTAHITETRT Fhas Fiad a¥ 9fd 1000 FFaAT T g T F AT B2

8. What is the term for the number of children born per woman in a population?

fra ereg #T 39l fFdY SwEar & gfa Afgen s a=af i g & v Far
STT 27

9. Which major factor contributes to rural-urban migration in India?
AR H AEAT-Edt garHa F GHE ANET &R ATl FRE R G B2

10. What is the minimum age for marriage of girls in India as per the latest legal provisions?
ANATH Flefell TEUTAT F HTUR AR A Jsfral f wgeTaq Raw e 3y =4
87

Sfad o1g Fcivig go7 (Very Short answer questions-02 Marks)
1- ofdw IR wenfoe saaifeadr F @fiT w7 3w &2

How is biological demography different from social demography?

2. 9RT A SFAEEAT 950 F AT & fav Areufdys Rauia i Far @ae 32

What are the limitations of the Malthusian theory in explaining population growth in India?

3. ITAOT-erEy TS HRAT FATS # Ao AT F F4 venfaa Fyar &2

How does the rural-urban divide impact social inequality in Indian society?

4. ‘AETIRTHIOr 3 ATNFIOP F 4T 3 &2

Differentiate between ‘metropolitanization’ and ‘“urbanization’.

5. AT STeraEar Afd (2000) F T&T HFA TICHIOY (Target-Free Approach) F4t
9T 9TT?
Why was the ‘Target-Free Approach’ adopted in India's Population Policy (2000)?
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6. FT YHR ATHIOT-2gd Y% (Rural-Urban Linkages) 3 9aTHsT (Labour Migration) &Y
g FIar g2

How do rural-urban linkages influence labour migration?

7. 9Rd # Sorwear fagaor Afifaat F aep F@ & g gwlaw dR aepfas e
41 82
What are the major social and cultural barriers to implementing population control policies in

India?

8. STAHEAT F A WIAT (Age Structure) FT AT R W Fa1 yora gsar 32

How does the age structure of a population affect economic development?

9. ATAIT-AE TATHA & FROT 3c9eT et ATl GHE WATIOIE TATATE F4T 82

What are the major social issues arising due to rural-urban migration?

10. STAFITEIHRT ATHIA (Demographic Dividend) {IRAT dcgaeer & fAv v @aw
X aF FHaT 82

How can the demographic dividend become an opportunity for the Indian economy?

oy ST g9 (Short answer questions (03 Marks)

1. oRd # e Reyidl f g @ §U TARIHT ygfrdi F1 faearor
$ife]

Analyze the demographic trends in India by comparing different population theories.

2. arHtor-eredt Remere Ft wenfaa F& Ak wrfoE 3R T FRET F1 AR
Hife]

Evaluate the social and economic factors influencing rural-urban divisions.

3. HRA &Y STHEAT AIfd (1952-2022) T gyoraefiear &1 @awor fifSw
Analyze the effectiveness of India's population policies from 1952 to 2022.

4. AGAFIT { 3 VAW FAQIEIRT IRacdal F1 Hediwa HAT|
Evaluate the major demographic changes associated with urbanization.

5. SeraeEdr gt 3R vty et & i & sradey #1 Reewyor fifgw

Analyze the interrelationship between population growth and environmental sustainability.
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6. AR & STAHIETRT ATHIA FT HedFaT AT
Evaluate India’s demographic dividend and its potential impact on economic growth.
7. el yaw & WS yogw wwifae R il FREl w1 R{eevor fifgw

Analyze the major social and economic factors behind rural-urban migration.

8. HRa A SwraeAr Afa #§ Afgemat i e IR gafFastor § wma w1 qgeawa
CAIE Y

Evaluate the role of women and the impact of empowerment in India’s population policy.
9. HRA A FAQIEIRT HFHAU & 0N HT fFeawor Hifaw|
Analyze the stages of demographic transition in India.
10. RS ¥ ot FwEdr ¥ &7 AR s8F AEATToR-3nTF germal F1 HeArwe
HIfaT]

Evaluate the rise in India's aging population and its socio-economic implications.

e ST geT (Long answer questions) (05Marks)

1. STHEAT e & yAw Rguial A e 1 g F Fla @1 Rgyia IS ARAT
FAHEAT WIGAT & AT Fa@ 3UGFd T g2 HYA 3 H dhi G@RT FAOT F|
Compare the major theories of population growth. Which theory do you think is most suitable
for India's demographic structure? Justify your answer with arguments.

2. FHIT-eEY ST AR AT A AR AR F HY dorar g2 FH v
TS T &ENT 3GTEI0T T IYAT FIF SHFT AT FY|

How do rural-urban divisions contribute to social inequalities in Indian society? Analyze with a
case study from a specific state or region.

3. 0N HY FTawEar A F wAE TR FT FqeAida FY| FAT I§ afa weft gat Hir
Sl B FAW T F QU F W 2 A9 30 A aF 3R ameT wwga #:

Evaluate the key aspects of India's population policy. Does it equally address the needs of all
social groups? Support your answer with arguments and evidence.

4. 3iteArfeRTor 3R yarE & FROT AEU-AEN AUl F FT IR §C § 5
yRadal & FAeaEET gHEt F1 fAaraver #i
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How has industrialization and migration altered rural-urban linkages? Analyze the sociological
implications of these changes.

5. F91 HRA # JaA Faedr Afd Tad e F Ryl | srufa &2 afy &, at
F af 71, A 3@ ARy TR F AT 3T FAT IgEmE g

Is India's current population policy based on the principles of sustainable development? If yes,
how? If not, what changes would you suggest to make it more effective?

6. 74T FTHOT-ME AT & FROT AT &35 H 47 dOR W H$ IHT ISdT &2 SHHT
AediHa H
Does rural-urban division impact the labor market in urban areas? Evaluate its effects.

7. 997 3T ARG § 6 sRa 1 Faaea Afa F i Rfevaet f caw § @
AT AT AIRE? FAT AT FE AR HIA I FT aet I waAT F @y yAoa
I
Do you think India's population policy should be designed considering regional diversity? Why
or why not? Justify your answer with arguments and evidence.

8. STrATEghr IREde & FROT HRAT AT FATST F FAT THE WATAF qGeld 3T
&7 3aTeoT SHFT Fedwor F

What major social changes have occurred in rural Indian society due to demographic shifts?
Analyze with examples.

9. 4R H arfior-ergdl wawl & weal H warwer 1 A1 AR T FAT yarHT F AT
AT TN AFRCHE THET 95T 872 Hediawe

What role does migration play in rural-urban linkages in India? Does migration have a positive
impact on rural society? Evaluate.

10. IR # SaEdr Aifa & 3R 30F gad sa=r & e 30 e av wEfaar &1
YEAT 337 YR FIATE! F THHI HUR W G F
What new strategies would you propose to make India's population policy more effective?
Provide rational justifications for your suggestions.
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Case Study Based Questions

Case Study 1:
ARA #H el sl & 9¢ W@ ¢, fad arefor-eed geet 3 Agcaqel aRade 3 w®

g1 Tgel AT At A AT H R YaE HET FT & ASHR AT oIrer A gier o,
ofehet 319 RIET, dgck TORLT ¢ 3R Shael 1 3T a[uraar i Hgcaqol FRe Tef
T g1 gTelitch, SEA ATATT &1F1 H HH AT T el 3N PV &7 # gAaar 3cde= &
W &1 gEd 3R, gardr AfAET garT Ao U A F T HPeHTEAT H FErIdr o
IGEGIN]

Urbanization in India is rapidly increasing, leading to significant changes in rural-urban linkages.
Earlier, migration from rural areas to cities was primarily for employment, but now factors such as
education, better healthcare, and a higher quality of life have also become important. However, this
has resulted in labor shortages in rural areas and challenges in the agricultural sector. On the other
hand, remittances sent by migrant workers help support the rural economy.

Questions:
1. IMHANOT-LTE YA & &l YW FROT AT (1 Mark)
State two major reasons for rural-urban migration.
2. BT T AHI0T FHIeHGTAT W FAT I1G ISl &2 (I Mark)
What is the impact of urbanization on the rural economy?
3. AFUT-LEL AHTSTT A FH A F [T TSR HlT T &7 TAH FT Tl 82 (!

Mark)
Suggest two government initiatives to reduce rural-urban divide.

4. 38 ¥ T & MUR W AR H FAGET Afd & F97 FUR U ST Fhd &
dTfeh IMHIOT-TEd HfeleT ST T2 (2 Marks)

Based on this case study, suggest improvements in India’s population policy to maintain
rural-urban balance.

Case Study 2:

HRA & TAEEd #ifd # TAT-AY W deord U a0 § dife SHaedr gefer &
g Far a1 @& 3R 3 Qe & sear fGar o &1 1952 & ggelr ) gRar
fase wrishe YE fhar Irr ATl 2000 HT ASET STAGEAT AT (NPP) a A T R
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Hcg X & HH H, GERT & 96 3R Folelel TR Jaiil # FUR o W &1
Hiea frar| grenfen, 3l of &8 &1 & SoaEdr gefer & o 3fUe g, 3N Farwsr W
gaTa S+ E3T &

India’s population policy has undergone several changes over time to control population growth
and promote economic development. The first family planning program was launched in 1952. The
National Population Policy (NPP) of 2000 focused on reducing maternal and infant mortality rates,

increasing literacy rates, and improving reproductive healthcare services. However, in some areas,
the population growth rate remains high, putting pressure on resources.

Questions:

. ¥R # Ugell STHEAT Al el ofE] T TS A2 (1 Mark)
When was the first population policy introduced in India?

2. 2000 T TSET STATEAT Afd HT AL 38T FAT AP (1 Mark)
What was the primary objective of the National Population Policy of 2000?

3. ORA H SHEAT gef¥ ¥ 3cUeel A YHE FHREAW &1 82 (1 Mark)
Mention two major issues arising from population growth in India.

4. SAEEAT geft H AT e & T TAR fohet & Wit s oy #
gahdl §? (2 Marks)

Suggest two strategies the government can implement to control population growth.
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